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12m! Maths Test No 1 Differentiation and Integration of Trig and Logs

1.Find -—m the following: /é{y e / = x’e ‘/y xlnx

= ¢**sin3x ) y=InV1-x’ /ﬂ/y—cos 2x

y =4° /ﬁ) y = Inx(1+2x)’

2. Find the following integrals: %“".dx 9/ j'4".dx

i 4x+ 3
/5 ‘[er Jdx /d/l+x /sz -
y Jsin 3x.dx ? I sec? x.dx /h’)/ tan’ x.dx

3. Consider the curve y =x Inx
f Find the stationary point,
% show there are no inflexion points and
}/ﬁse your calculator to find what has as x approaches zero
t

hen sketch the curve.

//f';ind the area enclosed by y = sin 2x, the Y axis and the line y = 1.

/4 y={x+ Vxt +1 }, find the simplest expression for % .

z

2
}>./Find -(%C- {xsin x} and hence evaluate I xcos x.dx
0
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